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R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
1 100kN/m##8% % 1.00]0.00 ~ 3.21 151.28| 3m*x# %% 0.00 ~ 0.10[ 3.05 16.31| 100kN/m#%#8 2% 1.00{ 10.66 ~ 36.00 151.28| 3m#*x# % %| 30.00 ~ 36.00| 3.05 16.31
s 1.00] 3.21 ~ 10.99 100.00f Z=hl4t | 0.10 ~ 10.99| 3.00 16.05 s 1.00f 5.00 ~ 10.66 100.00f Z=hl4t+ | 5.00 ~ 30.00f 3.00 16.05
9 100kN/m##8 %% 1.00{0.00 ~ 3.04 148.41|3m%x# %% 0.00 ~ 0.22 3.12 16.72| 100kN/m#%#B 2% 1.00{ 10.58 ~ 25.98 148.41|3m%*x#8% 5| 25.00 ~ 2598| 3.12 16.72
s 1.00| 3.04 ~ 10.83 100.00f Z=hl9t+ | 0.22 ~ 10.83] 3.00 16.05 s 1.00f 5.00 ~ 10.58 100.00f Zhl4t+ | 5.00 ~ 25.00( 3.00 16.05
3 100kN/m##8 %% 1.00{ 0.00 ~ 1.97 130.40| 3m%#B 25 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.55 ~ 17.74 130.40| 3m%x#B 25 =l ~ - - =
s 1.00{1.97 ~ 9.75 100.00f Zhl4t |0.00 ~ 9.75| 2.41 12.91 s 1.00f 5.00 ~ 10.55 100.00f Zhist | 5.00 ~ 17.74| 2.41 12.91
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00{ 0.00 ~ 5.63 70.27| #h L4t | 0.00 ~ 563| 1.99 10.63 s 1.00f 500 ~ 7.03 70.27| #hLlst | 5.00 ~ 7.03] 1.99 10.63
5 100kN/m##8 %% 1.00{0.00 ~ 0.19 102.81|3m%x#8 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 12.68 ~ 13.50 102.81|3m%x#B 25 =l ~ - - =
s 1.00{0.19 ~ 7.98 100.00f Z=hklst |0.00 ~ 7.98] 1.93 10.33 s 1.00f 500 ~ 12.68 100.00f Z=hl4t+ | 5.00 ~ 13.50f 1.93 10.33
6 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ B -~ = = =
s 1.00{0.00 ~ 7.57 96.90( ZhLlst |0.00 ~ 757 1.94 10.37 s 1.00f 500 ~ 11.74 96.90( Zh L4t | 5.00 ~ 11.74] 1.94 10.37
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~ |
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